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Question Number : 286 Question Id : 226895671374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Identify the relational algebra operation denoted by :
Course X Student;
where 'Course’ and "Student’ are two relations and X is an operation.

1. Union

2. Set Difference

3. Cartesian Product
4. Intersection

Options :

2268952602838. 1
2268952602839. 2
2268952602840. 3
2268952602841. 4

Question Number : 286 Question Id : 226895671374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952602838. 1
2268952602839. 2
2268952602840. 3
2268952602841. 4

Question Number : 287 Question Id : 226895671375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Given:

TableA:

Name Hobbies
Anu Dance
Anuj Music
TableB:

Name Hobbies
Prannav Reading
Anuj Music

Find TableA U TableB ?

1.|Name Hobbies

Anu Dance

Anuj  |Music

Prannav|Reading

3, [Name Hobbies

Anuj  |Music

Prannav|Reading

3, |[Name Hobbies

Prannav|Reading

4, [Name |H obbies

Anu Music

Anuj  |Dance

Prannav|Reading

Options :

2268952602842. 1
2268952602843. 2
2268952602844. 3
2268952602845. 4

Question Number : 287 Question Id : 226895671375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



femmang:

TableA:

Name Hobbies
Anu Dance
Anuj Music
TableB:

Name Hobbies
Prannav Reading
Anuj Music

TableA U TableB Fid @+

1. [Name Hobbies

Anu Dance

Anuj  |Music

Prannav|Reading

5 |Name Hobhbies

Anuj  [Music

PrannaviReading

3. [Name Hobbies

Prannav|Reading

4, [Name Hobhbies

Anu Music

Anuj  |Dance

Prannav|Reading

Options :

2268952602842. 1
2268952602843. 2
2268952602844. 3
2268952602845. 4

Question Number : 288 Question Id : 226895671376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Given two relations:
‘Employee’ with structure as |D, name, Address, Phone, Deptno
‘Department’ with structure as Deptno, Dname
is used to represent the relationship between two relations Employee and Department.

1. Primary key

2. Alternate key
3. Foreign key

4. Candidate key

Options :

2268952602846. 1
2268952602847.2
2268952602848. 3
2268952602849. 4

Question Number : 288 Question Id : 226895671376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Department with structure as Deptno, Dname
_______ @l oIl 9T SUdr &l RasH Employee AR Department @ ad 48U @I UG alﬁﬁﬁzﬁmmW%

1. U8 Poil
2. dblcud el
3. facall oft

4, IHIIGAR il

Options :

2268952602846. 1
2268952602847.2
2268952602848. 3
2268952602849. 4

Question Number : 289 Question Id : 226895671377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A value is specified for the column, if no value is provided.

1. unique
2. null

3. default
4. primary

Options :

2268952602850. 1
2268952602851. 2
2268952602852. 3
2268952602853. 4



Question Number : 289 Question Id : 226895671377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952602850. 1
2268952602851. 2
2268952602852. 3
2268952602853. 4

Question Number : 290 Question Id : 226895671378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Given table "StudAtt’ with structure as Rno, Attdate, Attendance.
Identify the suitable command to add a primary key to the table after table creation.
Mote: In the given case, we want to make both Rno and Attdate columns as primary key.

1. ALTER TABLE StudAtt ADD PRIMARY KEY(Rno, Attdate);

2. CREATE TABLE StudAtt ADD PRIMARY KEY(Rno);

3. ALTER TABLE StudAtt ADD PRIMARY KEY;

4. ALTER TABLE StudAtt ADD PRIMARY KEY({Rno) AND PRIMARY KEY(Attdate);

Options :

2268952602854. 1
2268952602855. 2
2268952602856. 3
2268952602857. 4

Question Number : 290 Question Id : 226895671378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. ALTER TABLE StudAtt ADD PRIMARY KEY(Rno, Attdate);

2. CREATE TABLE StudAtt ADD PRIMARY KEY(Rno);

3. ALTER TABLE StudAtt ADD PRIMARY KEY

4. ALTER TABLE StudAtt ADD PRIMARY KEY(Rno) AND PRIMARY KEY(Attdate);

Options :

2268952602854. 1
2268952602855. 2
2268952602856. 3
2268952602857. 4



Question Number : 291 Question Id : 226895671379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The SELECT command when combined with DISTINCT clause is used to:

1. returns records without repetition
2. returns records with repetition

3. returns all records with conditions
4. returns all records without checking

Options :

2268952602858. 1
2268952602859. 2
2268952602860. 3
2268952602861. 4

Question Number : 291 Question Id : 226895671379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952602858. 1
2268952602859. 2
2268952602860. 3
2268952602861. 4

Question Number : 292 Question Id : 226895671380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

is used to search for a specific pattern in a column.

1. Between operator
2. In operator

3. Like operator

4. Null operator

Options :

2268952602862. 1
2268952602863. 2
2268952602864. 3
2268952602865. 4

Question Number : 292 Question Id : 226895671380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



_____ &1 ST HiaH | T BRF Ued @l @ & fou fear S g |

1. Between operator
2. In operator

3. Like operator

4. Null Operator

Options :

2268952602862. 1
2268952602863. 2
2268952602864. 3
2268952602865. 4

Question Number : 293 Question Id : 226895671381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Give the output of the query:-
SELECT MONTH("2010-03-05");

1.3

2.5

3. MARCH
4. MAY

Options :

2268952602866. 1
2268952602867. 2
2268952602868. 3
2268952602869. 4

Question Number : 293 Question Id : 226895671381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
59 &4 @1 3¥eqe & -
SELECT MONTH("2010-03-05");

1:3

25

3. MARCH
4. MAY

Options :

2268952602866. 1
2268952602867. 2
2268952602868. 3
2268952602869. 4

Question Number : 294 Question Id : 226895671382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-1l

List-1 List-11

(Aggregate function)|(Description)

(&) count{marks) () Count all rows

(B) count(®) (I} Finding average of non null values of marks
(C) avg(marks) (I Count all non null values of marks column
(D) sum{marks) (IV) Finding sum of all marks

Choose the correct answer from the options given below:

T.(A) - (), (B) - (1), (C) - (1N, (D) - (V)
2.(A) - (0, (B) - (1), (C} - (), (D) - (V)
3. (A) - (0, (B) - (1. (C) - (V). (D) - (1)
4. (A) - (1), (B) - (V) (©) - (1), (D) - (1)

Options :

2268952602870. 1
2268952602871. 2
2268952602872. 3
2268952602873. 4

Question Number : 294 Question Id : 226895671382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A=), (B)-(1), (©)-(1), (B)-(1V)
2. (A)-(1). (B)-(1n. (©)-(10), (D)-(IV)
3. (A)-(0. (B)-(11), (C)-(1V), (D)-(110)
4. (A)-(1), (B)-(IV), (-1, (D)-(11)
Options :

2268952602870. 1
2268952602871.2

2268952602872. 3

2268952602873. 4

Question Number : 295 Question Id : 226895671383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Given Relation: 'STUDENT'

SNO SMNAME MARKS
1 Amit 20

2 Karuna 40

3 Kavita NULL
4 Anuj 30

Find the value of :
SELECT AVG(MARKS) FROM STUDENT;

1.30
2.22.5
3.90
4.23

Options :

2268952602874. 1
2268952602875. 2
2268952602876. 3
2268952602877. 4

Question Number : 295 Question Id : 226895671383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

f&ar T e g 'STUDENT:

SNQO SNAME MARKS
1 Amit 20

2 Karuna 40

3 Kavita NULL
4 Anuj 20

{79 &1 9 1d Bifere:

SELECT AVG(MARKS) FROM STUDENT;

1.30
2.22.5
3.90
4.23

Options :

2268952602874. 1
2268952602875.2
2268952602876. 3
2268952602877. 4

Question Number : 296 Question Id : 226895671384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



operation is used to get the common tuples from two relations.

1. Union

2. Intersect

3. Set Difference

4. Cartesian product

Options :

2268952602878. 1
2268952602879. 2
2268952602880. 3
2268952602881. 4

Question Number : 296 Question Id : 226895671384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952602878. 1
2268952602879. 2
2268952602880. 3
2268952602881. 4

Question Number : 297 Question Id : 226895671385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Identify the correct IP address from the options given:

1. FC:F8:AECE:7B:16
2.192.168.256.178
3.192.168.0.178
4.192.168.0.-1

Options :

2268952602882. 1
2268952602883. 2
2268952602884. 3
2268952602885. 4

Question Number : 297 Question Id : 226895671385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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1. FC:F8:AE:CE:7B:16
. 192.168.256.178
. 192.168.0.178

. 192.168.0.-1
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Options :



2268952602882. 1
2268952602883 2
2268952602884. 3
2268952602885. 4

Question Number : 298 Question Id : 226895671386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following python code segments in order with respect to exception handling.
{A) except ZeroDivisionError:
print("Zero denominator not allowed")
(B) finally:

print("Over and Out”)

(C) try:
n=50
d=int(input("enter denominator”)
g=n/d
print("division performed"”)
(D) else:

print("Result=",q)
Choose the correct answer from the options given below:

1. (Q). (A), (B). (D)
2. (). (A). (D), (B)
3. (B). (A), (D). (O)
4. (). (B). (D). (A)

Options :

2268952602886. 1
2268952602887. 2
2268952602888. 3
2268952602889. 4

Question Number : 298 Question Id : 226895671386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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{A) except ZeraDivisionError:

print("Zerc denominator not allowed")
(B) finally:

print{"Over and Out")

(C) try:
n=50
d=int{input("enter denominator”)
g=n/d
print(“division performed”)

(D) else:
print("Result=",q)

- feu e faed! & 9 el o7

1. () (A), (B). (D)

2. (C). (A). (D). (B)

3. (B), (A), (D), (O)

4.(Q), (B). (D), (A)

Options :

2268952602886. 1
2268952602887. 2
2268952602888. 3
2268952602889. 4

Question Number : 299 Question Id : 226895671387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

is the process of transforming data or an object in memory (RAM) to a stream of bytes called byte streams.

1. read()

2. write()

3. Pickling

4. De-serialization

Options :

2268952602890. 1
2268952602891. 2
2268952602892. 3
2268952602893. 4

Question Number : 299 Question Id : 226895671387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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1. read()

2. write()

3. Pickling

4, De-serialization

Options :

2268952602890. 1
2268952602891. 2
2268952602892. 3
2268952602893. 4

Question Number : 300 Question Id : 226895671388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Identify the correct code to read data from the file notes.dat in a binary file:

1. import pickle f1=open("notes.dat","r")
data=pickle.load(f1)

print(data)

f1.close()
2. import pickle f1=open("notes.dat”,"rb")
data=f1.load()

print(data)

f1.close()
3. import pickle f1=open("notes.dat”,"rb")
data=pickle.load(f1)

print(data)

fl.close()
4. import pickle f1=open("notes.dat","rb")
data=f1.read()

print(data)

fl.close()

Options :

2268952602894. 1
2268952602895. 2
2268952602896. 3
2268952602897. 4

Question Number : 300 Question Id : 226895671388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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1. import pickle f1=open("notes.dat","r") data=pickle.load(f1)
print(data)

f1.close()
2. import pickle f1=open("notes.dat","rb") data=f1.load()
print{data)

f1.close()
3. import pickle f1=open("notes.dat","rb") data=pickle.load(f1)
print{data)

f1.closel)
4. import pickle f1=open("notes.dat”,"rb”) data=f1.read()
print(data)

f1.closel)

Options :

2268952602894. 1
2268952602895. 2
2268952602896. 3
2268952602897. 4

Computer Sciences Informatics Practices Section B1

Section Id : 22689513859
Section Number : 2

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35

Number of Questions to be attempted : 35

Section Marks : 175
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 22689527536
Question Shuffling Allowed : Yes

Question Number : 301 Question Id : 226895671389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Identify the correct python statement to open a text file "data.txt” in both read and write mode.

1. file.open(“data.txt™)

2. file.open("data.tut”, "r+")

3. file.open("data.txt","rw")
R

4. file.open("data.tut”, "rw+")

Options :

2268952602898. 1
2268952602899. 2
2268952602900. 3
2268952602901. 4



Question Number : 301 Question Id : 226895671389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. file.open("data.txt”)

2. file.open("data.txt”,"r+")
3. file.open("data.mxt”, "rw")
4, file.open("data.txt”,"rw+")

Options :

2268952602898. 1
2268952602899. 2
2268952602900. 3
2268952602901. 4

Question Number : 302 Question Id : 226895671390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Identify the type of expression where operators are placed before the corresponding operands:

1. Polish expression

2. Infix expression

3. Postfix expression

4. Reverse polish expression

Options :

2268952602902. 1
2268952602903. 2
2268952602904. 3
2268952602905. 4

Question Number : 302 Question Id : 226895671390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952602902. 1
2268952602903. 2
2268952602904. 3
2268952602905. 4

Question Number : 303 Question Id : 226895671391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Evaluate the postfix expression:
2457258 f%

1.29
2.30
3.31
4.0

Options :

2268952602906. 1
2268952602907. 2
2268952602908. 3
2268952602909. 4

Question Number : 303 Question Id : 226895671391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. 29
2.30
3:31
4.0

Options :

2268952602906. 1
2268952602907. 2
2268952602908. 3
2268952602909. 4

Question Number : 304 Question Id : 226895671392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

STACK follows principle, where insertion and deletion is from end/ends only.

1. LIFO, two
2. FIFO, two
3. FIFQ, top
4. LIFO, one

Options :

2268952602910. 1
2268952602911. 2
2268952602912. 3
2268952602913. 4

Question Number : 304 Question Id : 226895671392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. LIFO, B
2. FIFO, &
3. FIFO, XY
4.UFO, T

Options :

2268952602910. 1
2268952602911. 2
2268952602912. 3
2268952602913. 4

Question Number : 305 Question Id : 226895671393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Given a scenario:

Suppose there is a web-server hosting a website to declare results. This server can handle a maximum of 100
concurrent requests to view results. So, as to serve thousands of user requests, a would be the most
appropriate data structure to use.

1. Stack

2. Queue

3. List

4. Dictionary

Options :

2268952602914. 1
2268952602915.2
2268952602916. 3
2268952602917. 4

Question Number : 305 Question Id : 226895671393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952602914. 1
2268952602915. 2
2268952602916. 3
2268952602917. 4

Question Number : 306 Question Id : 226895671394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



To perform enqueue and dequeue efficiently on a queue, which of the following operations are required?
A) isEmpty

B) peek

Q) isfull

D) update

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (B), (C) and (D) only
4. (A), (C) and (D) only

Options :

2268952602918. 1
2268952602919. 2
2268952602920. 3
2268952602921. 4

Question Number : 306 Question Id : 226895671394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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A) isEmpty

B) peek

Q) isfull

D) update

1. ®ad (A), (B) ¥R (D)
2. ®ad (A), (B) 3R (O)
3, &ad (B), (C) 3R (D)
4.%ad (A), (C) 3R (D)

Options :

2268952602918. 1
2268952602919. 2
2268952602920. 3
2268952602921. 4

Question Number : 307 Question Id : 226895671395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Distance table:

AtoB 20 mtr.
AtoC 530 mitr.
AtoD 110 mtr.
AtoE 70 mitr.

Identify the correct place where we have to use repeaters.

1. Between Ato B
2. Between Ato C
3. Between Ato D
4. Between Ato E

Options :

2268952602922. 1
2268952602923. 2
2268952602924. 3
2268952602925. 4

Question Number : 307 Question Id : 226895671395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



| .
G *

[AGINCIE
ATB 20 Hiex
AT C 50 Hiez
AT D 110 Hiex
ATE 70 Hiex
fediez @1 3uivT @3 & o 98 oi7g @ Uga &1l
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AAUEFSH

Options :

2268952602922. 1
2268952602923.2
2268952602924. 3
2268952602925. 4

Question Number : 308 Question Id : 226895671396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

In MAC address, Organisational Unique Identifier (OUI) consist of

1. 32 bits
2. 48 bits
3. 24 bits
4. 64 bits

Options :

2268952602926. 1
2268952602927.2
2268952602928. 3
2268952602929. 4

Question Number : 308 Question Id : 226895671396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



MAC Td § GiTaTes [afRIF gggmddl (oun |

1. 32 {29
2. 48 facg
3. 24 faeg
4. 64 [9cH

Options :

2268952602926. 1
2268952602927. 2
2268952602928. 3
2268952602929. 4

Question Number : 309 Question Id : 226895671397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Given a list numList of n elements and key value K, arrange the following steps for finding the position of the key Kin
the numList using binary search algorithm i.e. BinarySearch(numList, key)

(A) Calculate mid = (first+last)//2
(B) SET first = 0, last = n-1

(C) PRINT "Search unsuccessful”
(D) WHILE first <= last REPEAT

IF numList[mid] = key
PRINT "Element found at position”, mid+1
STOP
ELSE
IF numList[mid] > key, THEN last = mid-1
ELSE first = mid + 1

Choose the correct answer from the options given below:
T
2.
3.
4.

Options :

2268952602930. 1
2268952602931. 2
2268952602932. 3
2268952602933. 4

Question Number : 309 Question Id : 226895671397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



n ﬂﬁfﬁﬁﬁ—tﬁ numList GﬁTQF_\IﬂW K @I fgu 7 B, fgenurdl @il TeniRes g BinarySearch{numList, key) &1 SUGRT
@b numList B Foil K BT RUfg @eH & e Hefafad ol of srafd sifod |

(A) Calculate mid = (first+last)//2
(B) SET first = 0, last = n-1

{C) PRINT “Search unsuccessful”
(D) WHILE first <= last REPEAT

IF numList[mid] = key
PRINT “Element found at position”, mid+1
STOP
ELSE
IF numListfmid] > key, THEN last = mid-1
ELSE first = mid + 1

TH Rt e f W Sw T
1. (A), (B), (D), (C)
2 (D), (B). (A). (Q)
3. (B), (A), (D), (©)
4. (D), (A}, (B), (C)
Options :

2268952602930. 1
2268952602931.2
2268952602932. 3
2268952602933. 4

Question Number : 310 Question Id : 226895671398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

In binary search after every pass of the algorithm, the search area:

1. gets doubled

2. gets reduced by half

3. remains same

4. gets reduced by one third

Options :

2268952602934. 1
2268952602935. 2
2268952602936. 3
2268952602937. 4

Question Number : 310 Question Id : 226895671398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



ey @9 § UEIRYE & Ud® " & 91, 9 &

1. SR 81 ST &

2. YT &9 8 el &

3. 61 T & _
4, 0% e U gl didl &

Options :

2268952602934. 1
2268952602935. 2
2268952602936. 3
2268952602937. 4

Question Number : 311 Question Id : 226895671399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

For binary search, the list is in ascending order and the key is present in the list. If the middle element is less than the
key, it means:

1. The key is in the first half.

2. The key is in the second half.
3. The key is not in the list.

4, The key is the middle element.

Options :

2268952602938. 1
2268952602939. 2
2268952602940. 3
2268952602941. 4

Question Number : 311 Question Id : 226895671399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

fganerd @ie & fo ofg Tt oRiE! 59 & € 9fR $ot Ot F Oiig ©1 9 788 7 olt § & § o 3! o &

1. Pol qEr E B
2. Fol S B Bl
3. Bell G H LT 1
4. ol HE AT B

Options :

2268952602938. 1
2268952602939. 2
2268952602940. 3
2268952602941. 4

Question Number : 312 Question Id : 226895671400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following in order related to bubble sort for a list of elements:

s

9 12 30 2 6 |

=

A).

B).

(&

-9l4j2/12]e[30]

D).

SR

Choose the correct answer from the options given below:

—

ﬂ
—

—

Options :

2268952602942. 1
2268952602943. 2
2268952602944. 3
2268952602945. 4

Question Number : 312 Question Id : 226895671400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Fafeied @i aal &1 gl & [0 Sa0 9 9 G&ftd 50 H oafd o3

la -9 B 30 2 6 |
A)

BV
(

—

o

Options :

2268952602942. 1
2268952602943. 2
2268952602944. 3



2268952602945. 4

Question Number : 313 Question Id : 226895671401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

The amount of time an algorithm takes to process a given data can be called its :

1. Process time
2. Time period
3. Time complexity
4. Time bound

Options :

2268952602946. 1
2268952602947. 2
2268952602948. 3
2268952602949. 4

Question Number : 313 Question Id : 226895671401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

ot [Gu 71U 3o &1 U1ed &3 § U@ AN $i fold-l 999 T dl &, 39 3901 ®el ol 9&dl &

1. Ui &1 999
2. HY gy

3. TG @ Sfeddr
4, gHYEG

Options :

2268952602946. 1
2268952602947. 2
2268952602948. 3
2268952602949. 4

Question Number : 314 Question Id : 226895671402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Identify the incorrect statement in the context of measures of variability:

1. Range is the difference between maximum and minimum values of the data.
2. Mean is the average of numeric values of an attribute.
3. Standard deviation refers to differences within the set of data of a variable.

4. Measures of variability is also known as measures of dispersion.

Options :

2268952602950. 1
2268952602951.2
2268952602952. 3
2268952602953. 4

Question Number : 314 Question Id : 226895671402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



gRadRiad @1 A1gf & Sy J Tad $YF & 9edH ok

1. IR 521 & Afiwas S a9 T & 81d @1 AR &l

2. 919 U@ Uleede & GEAeTd A1 @1 Hd o

3. 9§ faaeH U R & Se1 ¥e & HiaR i & Yefifd o 8
4. UREd-RIad &1 Al &I FERe @1 Al & w0 d ft S e gl

Options :

2268952602950. 1
2268952602951. 2
2268952602952. 3
2268952602953. 4

Question Number : 315 Question Id : 226895671403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Identify type of data being collected/generated in the scenerio of recording a video:

1. Structured Data
2. Ambiguous data
3. Unstructured data
4. Formal Data

Options :

2268952602954. 1
2268952602955. 2
2268952602956. 3
2268952602957. 4

Question Number : 315 Question Id : 226895671403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

difsdl t@ls & & ulvesy o tes/30d [T 916 S0 & UK &1 UggH By
1. IR g1

2. 3P a1

3, ST ST

4. =R ST

Options :

2268952602954. 1
2268952602955.2
2268952602956. 3
2268952602957. 4

Question Number : 316 Question Id : 226895671404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Given data:
Weight of 20 student in kgs=[35, 35, 40, 40, 40, 50, 50, 50, 50, 50, 60, 65, 65, 70, 70, 72, 75, 75, 78, 78]
Find the mode.

1.50
2.55
3.57.4
4.57

Options :

2268952602958. 1
2268952602959. 2
2268952602960. 3
2268952602961. 4

Question Number : 316 Question Id : 226895671404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

& T st
20 B! @1 g5 [P & = [35, 35, 40, 40, 40, 50, 50, 50, 50, 50, 60, 65, 65, 70, 70, 72, 75, 75, 78, 78]

T I Be:

1. 50
2.55
3.574
4.57

Options :

2268952602958. 1
2268952602959. 2
2268952602960. 3
2268952602961. 4

Question Number : 317 Question Id : 226895671405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-1l

List-1 List-1I

(A). Primary key|(l). Total number of attributes in a table.

(B). Degree (I). Attribute used to relate two tables.

(C). Foreign key|(Il). Attribute used to uniquely identify a tuple.

(D). Constraint |(IV). A restriction on the type of data that can be inserted in a column of a table.

Choose the correct answer from the options given below:

1. (A) - (), (B) - (I, (C) - (Im), (D) - (V)
2. (A) - (), (B} - (1), (C) - (), (D) - (V)
3. (A) - (0, (B) - (1), (€) - (V). (D) - (1)
4. (A) - (), (B) - (V) (@ - (), () - (1)

Options :

2268952602962. 1
2268952602963. 2
2268952602964 3
2268952602965 4

Question Number : 317 Question Id : 226895671405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 & Ty -1 BT A B

-1 -1

(A) TS el |(1) T dicioT H UEsIEd Bl oo WA |

(B) f33kt () & arfeiral @l Haftid S o o IugiT fbar - arel ufesge |
() fesfidel | U 2ua @I ARy ¥ 0 U YgdrH & [R1U 3URT &l o arel Uieegg|
(D) BE= (IV) 821 & YR W ufaay fordl aifeit & ue ®iaq § SIeT < Y&l o
e f&u e gl o 9 9d SR -

1. (A)-0), (B)-(1), (©)-(1, (D)-(1V)
2. (A)-(n), (8)-(), (C)-(10), (D)-(IV)
3. (A)-(). (B)-(), (C)-(1V). (D)-{111)
4. (A)-(), (B)-(v), (©-(). (D)-(1)

Options :

2268952602962. 1
2268952602963. 2
2268952602964. 3
2268952602965. 4

Question Number : 318 Question Id : 226895671406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



In SQL table, the set of values which a column can take in each row is called

1. Tuple

2. Attribute
3. Domain

4. Relation

Options :

2268952602966. 1
2268952602967. 2
2268952602968. 3
2268952602969. 4

Question Number : 318 Question Id : 226895671406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Y difv@l § A S dg e e @ e iae ied d T udare9d EZE G

1.204d
2. Ufege
3, BHA
4. A

Options :

2268952602966. 1
2268952602967. 2
2268952602968. 3
2268952602969. 4

Question Number : 319 Question Id : 226895671407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is synonym for Meta - data?

1. Data Dictionary
2. Database Instance
3. Database Schema
4. Data Constraint

Options :

2268952602970. 1
2268952602971.2
2268952602972. 3
2268952602973. 4

Question Number : 319 Question Id : 226895671407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



fofofaa d g s-T Ae-sa s g &2

1. &1 fEaRm
2. BETEY 3% Y
3, Sy Wil
4. ST BT

Options :

2268952602970. 1
2268952602971.2
2268952602972. 3
2268952602973. 4

Question Number : 320 Question Id : 226895671408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5§ Wrong Marks : 1

Single row functions are also known as functions.

1. Multi row

2. Group

3. Mathematical
4. Scalar

Options :

2268952602974. 1
2268952602975. 2
2268952602976. 3
2268952602977. 4

Question Number : 320 Question Id : 226895671408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
GaRH & ©4 8 i FH 91 8

Options :

2268952602974. 1
2268952602975. 2
2268952602976. 3
2268952602977. 4

Question Number : 321 Question Id : 226895671409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Ms Ritika wants to delete the table 'sports’ permanently. Help her in selecting the correct SQL command from the
following.

1. DELETE FROM SPORTS;
2. DROP SPORTS;

3. DROP TABLE SPORTS;

4. DELETE * FROM SPORTS;

Options :

2268952602978. 1
2268952602979. 2
2268952602980. 3
2268952602981. 4

Question Number : 321 Question Id : 226895671409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Gl RIGaT 'sports’ Alfeia &l R &0 U g2F1 d8dl &, Uel BHIS g ¥ 3931 Hae Hyfaiad fasel 8 4 sifed|

1. DELETE FROM SPORTS;
2. DROP SPORTS;

3. DROP TABLE SPORTS.

4, DELETE * FROM SPORTS;

Options :

2268952602978. 1
2268952602979. 2
2268952602980. 3
2268952602981. 4

Question Number : 322 Question Id : 226895671410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following are text functions?

(A) MID)

(B) INSTR()

(C) SUBSTR()

(D) LENGTH()

Choose the correct answer from the options given below:

1. {A), (B) and (D) only
2. (A), (B} and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952602982. 1
2268952602983. 2
2268952602984. 3
2268952602985. 4



Question Number : 322 Question Id : 226895671410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Foidied o § oH-1 Toe haeH 87
(A) MID()

(B) INSTR(Q)

(C) SUBSTR()

(D) LENGTHQ

1d feu e famed! o § |Et 3w I

1. Had (A), (B}Sﬂ'\’[D

2. Had (A), (B) IR (O)
3. (A), (B). (O X (D)

4, Had (B), (C) 3R (D)

Options :

2268952602982. 1
2268952602983. 2
2268952602984. 3
2268952602985 4

Question Number : 323 Question Id : 226895671411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-1l

(A) ROUTER (1) NETWORK TOPOLOGY

(B) ETHERNET CARD|(Il) NETWORK DEVICE

(C).RING (Il) NETWORK TYPE

(D) PAN (IV) NETWORK INTERFACE CARD

Choaose the correct answer from the options given below:

T.(A) - (1), (B) - (V), (Q) - (0, (D) - (1)
2.(A) - (1, (B) - (1), (C) - (), (D) - (V)
3. (A) - (1V), (B) - (1), (©) - (i), (D) - (1)
4.

- (A) - (1, (B) - (V). (Q) - (). (D) - (1)

Options :

2268952602986. 1
2268952602987. 2
2268952602988. 3
2268952602989. 4

Question Number : 323 Question Id : 226895671411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



-1 & 1Y HA-11

-1 -

(A) T3 (1) 9ead @t

(B) YT BIS |(II) Th UG

© far (1) ead UHR
()T (IV) Hed Seihy Prs|
1 feu T fomedl 9 Wt SR -

1. (A)-01. (B)-(1v), (©)-(1. (D)-(11)
2. (A)-(. (B)-(1. (C)-(1), (D)-(IV)
3. (A)-0V), (B)-(11), (Q)-(m, (D)-(1)
4. (A)-01), (B)-(1v), (C)-(1), (D)-(1)

Options :

2268952602986. 1
2268952602987. 2
2268952602988. 3
2268952602989. 4

Question Number : 324 Question Id : 226895671412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
is a language used to design web pages.

1. Web browser
2. HTTP

3. HTML

4. WWw

Options :

2268952602990. 1
2268952602991. 2
2268952602992. 3
2268952602993. 4

Question Number : 324 Question Id : 226895671412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

TH TN & 9T SUErT 39 Ul @i (595 34 & oY [ S 8|

1. 39 §I39R
2. HTTP
3. HTML
4, WWW

Options :

2268952602990. 1
2268952602991. 2
2268952602992. 3
2268952602993. 4

Question Number : 325 Question Id : 226895671413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-1l

List-1 List-11
(&) Modem (1) An eight pin connector used with Ethernet cables for networking.
(B) RJ45 (1) Modulator-Demodulator

(C) Network interface unit|(lll) An organization that provides services for accessing the internet.

(D) ISP (IV) Ethernet card

Choose the correct answer from the options given below:

T.(A) - (), (8) - (I, (C) - (Im), (D) - (IV)
2.(A) - (1), (B) - (1), () - (V). (D) - (1)
3.(A) - (0, (B) - (1), (©) - (V). (D) - ()
4. (A)- (1), (B) - (IV), (©) - (1), (D) - (1)

Options :

2268952602994. 1
2268952602995. 2
2268952602996. 3
2268952602997. 4

Question Number : 325 Question Id : 226895671413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 & WY -1l B T B

-1 -1

(A) AT (1) FeafdT & forT SyT-e Had & 9y IuHT fFHar 9 g A8 O aren dHae|
(B) RJ45 () ArsgaieR-fenlsaaeR

(C) Heads $e3h Y 313 ((1I1) T W6 Sl Sex-e dd UgdH o fo7d ¥aTl HaH &idl g

(D) ISP (V) ST B8

T Gt Rl f 9 I SR

1. (A=, (B)-01), (©)-(1), (D)-(1V)
2. (A)-(), (B)=(1). (C)-(IV). (D)-(111)
3. (A)-(1). (B)-(1), (C)-(1V). (D)-(11)
4. (A)-(11, (B)-(1V). (C)-(, (D)-(11)

Options :

2268952602994. 1
2268952602995. 2
2268952602996. 3
2268952602997. 4

Question Number : 326 Question Id : 226895671414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Bandwidth of a channel is:

1. The range of frequencies available for transmission of data through that channel.
2. The path of message travels between source and destination.

3. The set of rules on the Internet.

4. The data or information that needs to be exchanged.

Options :

2268952602998. 1
2268952602999. 2
2268952603000. 3
2268952603001. 4

Question Number : 326 Question Id : 226895671414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

1. 3 9d & 11999 9 ST & Yaiul & e Suasy gl o il
2. 4o &1 971 9l AR 7ided & &g a6 adl 8

3. $2x-e W 9w &1 g |

4. 321 91 TF@R] fordd fa-ag @1 Haaddl 5

Options :

2268952602998. 1
2268952602999. 2
2268952603000. 3
2268952603001. 4

Question Number : 327 Question Id : 226895671415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Data Transfer Rate 1 Gbps is equal to :
(A) 1024 Mbps
(B) 1024 Kbps
(C) 2% bps
(D) 22° bps
Choose the correct answer from the options given below:

A) and (D) only
A) and (C) only
B) and (D) only
B) and (C) only

ey s e

T
A
3.
4.

Options :

2268952603002. 1
2268952603003. 2
2268952603004 3
2268952603005. 4



Question Number : 327 Question Id : 226895671415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

1 Gbps 32T EXTTRYI &X 35U IR sl &
(A) 1024 Mbps

(B) 1024 Kbps

(C) 23% bps

(D) 2°° bps

I fRu T famea 5 4 W SR T

1. Had (A) 3R (D)
2. Had (A) 3R (C)
3, &ad (B) 3R (D)
4. %ad (B) 3R (O

Options :

2268952603002. 1
2268952603003. 2
2268952603004. 3
2268952603005. 4

Question Number : 328 Question Id : 226895671416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Identify the wired transmission media for the following:

"They are less expensive and commonly used in telephone lines and LANS. These cables are of two types: Unshielded and
shielded.”

1. Optical Fibre

2. Coaxial Cable

3. Twisted pair cable
4. Microwaves

Options :

2268952603006. 1
2268952603007. 2
2268952603008. 3
2268952603009. 4

Question Number : 328 Question Id : 226895671416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



FafaRad & fou 993 TaRy 9199 & UgaH ok
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4. geF adl

Options :

2268952603006. 1
2268952603007. 2
2268952603008. 3
2268952603009. 4

Question Number : 329 Question Id : 226895671417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
The term Cookie is defined as :

1. A computer cookie is a small file or data packet which is stored by a website on the server s computer.

2. A cookie is edited only by the website that created it, the client’'s computer acts as a host to store the cookie.
3. Cookies are used by the user to store data on the computer.

4. A cookie is a security system to protect your data.

Options :

2268952603010. 1
2268952603011. 2
2268952603012. 3
2268952603013. 4

Question Number : 329 Question Id : 226895671417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603010. 1
2268952603011. 2
2268952603012. 3
2268952603013. 4

Question Number : 330 Question Id : 226895671418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Identify the coancept behind the below-given scenario:

If an attacker limits or stops an authorized user to access a service, device or any such resource by overloading that
resource with illegitimate requests.

1. Snooping

2. Eavesdropping
3. Denial of Service
4. Plagiarism

Options :

2268952603014. 1
2268952603015. 2
2268952603016. 3
2268952603017. 4

Question Number : 330 Question Id : 226895671418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952603014. 1
2268952603015. 2
2268952603016. 3
2268952603017. 4

Question Number : 331 Question Id : 226895671419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
The HTTPS based websites require:

1. Search Engine Optimization
2. Digital authencity

3. WWW Certificate

4. S5L Digital Certificate

Options :

2268952603018. 1
2268952603019. 2
2268952603020. 3
2268952603021. 4

Question Number : 331 Question Id : 226895671419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952603018. 1
2268952603019. 2
2268952603020. 3
2268952603021. 4

Question Number : 332 Question Id : 226895671420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

State the output of the following query.
SELECT LENGTH(MID({'INFORMATICS PRACTICES',5,-5));

1. NO QUTPUT
2.5

3.0

4. ERROR

Options :

2268952603022. 1
2268952603023. 2
2268952603024. 3
2268952603025 4

Question Number : 332 Question Id : 226895671420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fofaiad o3l @1 3eye Sy
SELECT LENGTH(MID{INFORMATICS PRACTICES',5,-5)):

1. ®l3 AICYE Ta!
25

3.0

4. ERROR

Options :

2268952603022. 1
2268952603023. 2
2268952603024. 3
2268952603025. 4

Question Number : 333 Question Id : 226895671421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-1l

List-1 List-11

(&) group by (1) math function

(B} mid() (I} aggregate function
(C) count() (1) having

(D) mod() (IV) text function

Choaose the correct answer from the options given below:

A) - (1), (B) - (1V), (C) - (W), (D) - (1)
A) = (1), (B) - (1), (€) - (), (D) - (V)
A) - (1), (B) - (), (C) - (V). (D) - (1)
A) = (), (B) - (1V), (C) - (. (D) - (1)

e e P

¥
2.
3
4.

Options :

2268952603026. 1
2268952603027. 2
2268952603028. 3
2268952603029. 4

Question Number : 333 Question Id : 226895671421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

11 & FY -1 BT e DL

-1 -1

(A) group by (n 70T thaeH

(B) mid() () THE BaR

(C) count() {1 having

(D) mod() (V) TE HaEH

Id fau e fawed! o ¥ Het 37k 4

1. (A)-(), (B}-(v), (-0, (D)-(

2 (A)-(1) (B)-(1n), (C)-(1n), (D)-(Iv)

3. (A)-(D). (B)-(11). (C)-(1V). (D)-(1N)

4. (A)-(m), (B)-(v), (-0 (B)-(1N
Options :

2268952603026. 1
2268952603027. 2
2268952603028. 3
2268952603029. 4

Question Number : 334 Question Id : 226895671422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



What will be the format of the output of the NOW() function?

1. HH:MM:SS

2. YYYY-MM-DD HH:MM:S5
3. HH:MM:SS YYYY-MM-DD
4. YYYY-DD-MM HH:MM:55

Options :

2268952603030. 1
2268952603031. 2
2268952603032. 3
2268952603033. 4

Question Number : 334 Question Id : 226895671422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

NOW/() = & 3T3eYe & HREY 1 GRII?

1. HH:MM:SS

2. YYYY-MM-DD HH: MM: 55
3. HH:MM:SS YYYY-MM-DD
4. YYYY-DD-MM HH:MM:S5

Options :

2268952603030. 1
2268952603031. 2
2268952603032. 3
2268952603033. 4

Question Number : 335 Question Id : 226895671423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

State the output of the following query:
SELECT ROUND(9873.567,-2);

1. 9900
2.9873
3. 9800
4. 9873.5

Options :

2268952603034. 1
2268952603035. 2
2268952603036. 3
2268952603037. 4

Question Number : 335 Question Id : 226895671423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



FHofeRaa &3 @1 23eye gaRu|
SELECT ROUND(9873.567,-2);

1. 9900
2.9873
3. 9800
4.9873.5

Options :

2268952603034. 1
2268952603035. 2
2268952603036. 3
2268952603037. 4

Computer Sciences Informatics Practices Section B2

Section Id : 22689513860
Section Number : 3

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35

Number of Questions to be attempted : 35

Section Marks : 175
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 22689527537
Question Shuffling Allowed : Yes

Question Number : 336 Question Id : 226895671424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Given the following table:

EMPLOYEE

ENC SALARY
A101 4000
B109 MNULL
C508 6000
A305 2000

State the output of the following query based on the above given table.
SELECT COUNT(SALARY) FROM EMPLOYEE;

1.4
2.2
3.3
4.1

Options :

2268952603038. 1
2268952603039. 2
2268952603040. 3
2268952603041. 4



Question Number : 336 Question Id : 226895671424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Jufeiiad difere _CnplTITﬁ%r

EMPLOYEE

ENO SALARY

A101 4000

B109 NULL

C508 6000
305 2000

SELECT COUNT(SALARY) FROM EMPLOYEE:BUR &l 715 arfera! & HIYR W Fofafes &8 &1 w8ege ¢

1.4
2.2
3.3
4.1

Options :

2268952603038. 1
2268952603039. 2
2268952603040. 3
2268952603041. 4

Question Number : 337 Question Id : 226895671425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-1l

(A) SUBSTR()|(I) To find the position of a substring in a string.

(B) TRIM{ |(I1) To extract a substring from a string.

(CYINSTR() |{Il) To extract characters from the left side of the string.

(D) LEFT()  |(IV) To remove spaces from both the sides of the string.

Choose the correct answer from the options given below:

Options :

2268952603042. 1
2268952603043. 2
2268952603044. 3
2268952603045. 4

Question Number : 337 Question Id : 226895671425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A)-0), (B)-(), (C)-(1), (D)-(1V)
2. (A)-(1), (B)=(1V), (C}-(D). (D)-{I11)
3. (A)-(), (B)-(1), (C)-(1V), (D)-{111)
4. (A)-0m, (B)-(v), (Q-(. (D3-(1N)

Options :

2268952603042. 1
2268952603043. 2
2268952603044. 3
2268952603045. 4

Question Number : 338 Question Id : 226895671426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following statements to create a series from a dictionary.
{A) Print the series
(B) Import the pandas library
{C) Create the series
(D) Create a dictionary
Choose the correct answer from the options given below:

1.(A), (B), (C
2.(A) (Q), (B
3.(B). (D). (C
4.(Q). (B). (D

) (D)
) (D)
) (A)
). (A)
Options :
2268952603046. 1
2268952603047.2
2268952603048. 3
2268952603049. 4

Question Number : 338 Question Id : 226895671426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952603046. 1
2268952603047.2
2268952603048. 3
2268952603049. 4

Question Number : 339 Question Id : 226895671427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Given the following DataFrame 'df:

PNO NAME
111 ROHAN
222 MEETA
333 SEEMA
444 SHALU
555 POONAM

Select the correct commands from the following to display the last five rows:
{A) print(df.tail(-5))

(B) print(df.head(-5))

{C) print(df.tail())

(D) print({dftail(5))

Choose the correct answer from the options given below:

1. (&), (C) and (D) only
2. (A) and (B) only

3. (A), (B), (Q) and (D)
4. (C) and (D) only

Options :

2268952603050. 1
2268952603051. 2
2268952603052. 3
2268952603053. 4



Question Number : 339 Question Id : 226895671427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Frofaiag 2o 9 df R fER &%

PNO NAME
111 ROHAN
222 MEETA
333 SEEMA
444 SHALU
555 POONAM

A Ui didagl & Ueikid o & [T Ugl HHS &1 9949 B
(A) print(df.tail(-5))

(B) print(df head(-5))

{C) print(df.tail()

(D) print(df.tail(5))

1< gy e fawed! & 9 9@l 3wk -

1. %ad (A), (O 3R (D)
2. Had (&) 3R (B)
3.(A), (B), (Q) 3R (D)
4. %ad (C) 3R (D)

Options :

2268952603050. 1
2268952603051. 2
2268952603052. 3
2268952603053. 4

Question Number : 340 Question Id : 226895671428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Given the following series 'ser1":

0 |69
1 |80
2 |20
3 |50
4
5

100
70

State the output of the following command:

print(ser1>=70)

1.[1180
4/100
70

(%3]

[ d W N[=TD]
I s T e e

[en[& =]
R

4100

Options :

2268952603054. 1
2268952603055. 2
2268952603056. 3
2268952603057. 4

Question Number : 340 Question Id : 226895671428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



m@ﬁ%{@ﬁf'ser‘l'mﬁﬂﬁﬁ:

0 |69
1 |80
20
50
100
70
FafaRad BHiS &1 S13eye IaRt:

R

print(ser1==70)

1 [s0
4100
570

[ s W N [=T0O]
N

[tn]&T=]
=R

41100

Options :

2268952603054. 1
2268952603055. 2
2268952603056. 3
2268952603057. 4

Question Number : 341 Question Id : 226895671429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following are the correct commands to delete a column from the DataFrame 'df1'?
{A) df1=dfi.drop{column name,axis=1)

(B) df1.drop(column name,axis=columns,inplace=True)

(C) df1.drop{column name,axis="columns’inplace=True)

(D) df1.drop(column name,axis=1,inplace=True}

Choose the correct answer from the options given below:

1. (4), (C) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (Q) and (D)

4. (B), (C) and (D) only

Options :

2268952603058. 1
2268952603059. 2
2268952603060. 3
2268952603061. 4

Question Number : 341 Question Id : 226895671429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

STNbH 'df1' ¥ U DiaH g o forg FfciRad H 9 oH-8 T8 e 82
(A) dfi=dfi.drop(column name,axis=1)

(B) df1.drop(column name,axis=columns,inplace=True)

{C) df1.drop(column name,axis="columns'inplace=True)

(D) dft.drop(column name,axis=1,inplace=True)

:ﬁ%ﬁqulﬂ’@fﬂiﬂﬁ?ﬂﬂ:
Had (A), (C) Gﬁ?(D
Had (A), (B) 3R (C
( A), (B), (C) 3R (D }

4, &4 (B), (C) ¥R (D)

Options :

2268952603058. 1
2268952603059. 2
2268952603060. 3
2268952603061. 4

Question Number : 342 Question Id : 226895671430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following is the correct command to display the top 2 records of Series Tail'?

1. print(s1.head(2))
2. print(tail.head().)
3. print(tail.head())

4. print(tail. head(2))

Options :

2268952603062. 1
2268952603063. 2
2268952603064. 3
2268952603065. 4

Question Number : 342 Question Id : 226895671430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Tail' RIS @ 2T 2 ReplS Uafia &3 o forg Fafaied § 9 »H-91 981 ofiew &7

1. print(s1.head(2))
2. print(tail.head().)
3. print(tail.head())
4. print(tail. head(2))

—_

Options :

2268952603062. 1
2268952603063. 2
2268952603064. 3
2268952603065. 4

Question Number : 343 Question Id : 226895671431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

While transferring the data from a DataFrame to CSV file, if we do not want the column names to be saved to the file
on the disk, the parameter to be used in ta_csv() is

1. header=False
2. index=False
3. header=True
4. index=True

Options :

2268952603066. 1
2268952603067. 2
2268952603068. 3
2268952603069. 4

Question Number : 343 Question Id : 226895671431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



ST IbH 4 S @ csv Higd H RIFIART &Xd G994, TG 84 el digd 1o DIaH & I1H (330 W BEd H Heo 9, d
tocsv) B WM PO e A Oxiefter gl

1. header=False
2. index=False
3. header=Trus
4, index=True

Options :

2268952603066. 1
2268952603067. 2
2268952603068. 3
2268952603069. 4

Question Number : 344 Question Id : 226895671432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

HTTPis

1. a set of rule for email communication.

2. a file transfer protocol.

3. a set of rules which is used to retrieve linked web pages across the web.
4. a set of rules used for secure transmission of data.

Options :

2268952603070. 1
2268952603071. 2
2268952603072. 3
2268952603073. 4

Question Number : 344 Question Id : 226895671432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

1. 397 H9R & fou o &1 te 9 B

2. 98 U% Hisd YFIGR0 Uieidid 8l

3. ot &1 ve aag e SudiT 98 W @ foT 7 99 gFl &1 5 U &% & o faed o g
4. T8 S & Wi&d Yovyl o e 3udi ey @i drel gl &l U 99g 5 |

Options :

2268952603070. 1
2268952603071. 2
2268952603072 3
2268952603073. 4

Question Number : 345 Question Id : 226895671433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Put the following statistical measures in order starting from the one that provides the simplest measure of data to the
most complex one that describes data spread.

(A) Mode

(B) Mean

(C) Median

(D) Range

(E) Standard Deviation

Choose the correct answer from the options given below:

E)
E)

Options :

2268952603074. 1
2268952603075.2
2268952603076. 3
2268952603077. 4

Question Number : 345 Question Id : 226895671433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Fufiiad vifersa 3ud ©f 39 &4 1 3 ol S21 & ey W 719 Y daR ol YHR &I aulH $3- di ¥ad dfed A
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4. (G, )
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Options :

2268952603074. 1
2268952603075. 2
2268952603076. 3
2268952603077. 4

Question Number : 346 Question Id : 226895671434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Dataframe.quantile() is used to get the quartiles. The second quantile is known as

1. mode

2. mean

3. standard deviation
4. median

Options :

2268952603078. 1
2268952603079. 2
2268952603080. 3
2268952603081. 4

Question Number : 346 Question Id : 226895671434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

DataFrame.quartile() B1 STANT 9q4® U &3 & (oY {61 oI £ | G3R Helsd &l & &Y H S Sl g

1. gD
2. 914

3. 9H® fdged
4, TS

Options :

2268952603078. 1
2268952603079. 2
2268952603080. 3
2268952603081. 4

Question Number : 347 Question Id : 226895671435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Consider the given DataFrame 'df4".

NAME PERIODIC ENG |MATHS SCIENCE
12 |MEENA 1 40 60 80
17 |REENA 2 60 30 10
18 |TEENA 3 80 60 40
20 |SHEENA 2 90 20 70

Select the correct command to get the following output:

NAME MEENAREENATEENASHEENA
PERIODIC 8

ENG 270

MATHS 170

SCIENCE 200

1. print(df4.sum(numeric_only=True))

2. print(df4.sum(numeric_only=False))

3. print(dfd.sum())

4. print{df4.count(numeric_only=True))




Options :

2268952603082. 1
2268952603083. 2
2268952603084. 3
2268952603085. 4

Question Number : 347 Question Id : 226895671435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : S Wrong Marks : 1

feu T 3@ %59 dfie W FaR &1

NAME PERIODIC ENG |MATHS SCIENCE
12 |MEENA 1 40 60 8o
17 |REENA 2 60 30 10
18 |TEENA 3 80 60 40
20 |SHEENA 2 90 20 70

Fofeiead smseye urg &34 @ foe Og dais g+

NAME MEENAREENATEENASHEENA
PERIODIC 8

ENG 270

MATHS 170

SCIENCE 200

1. print{df4.sum(numeric_only=True))
2. print{df4.sum(numeric_only=False})
3. print{dfd.sum())

4. print(df4.count(numeric_only=True))

Options :

2268952603082. 1
2268952603083. 2
2268952603084. 3
2268952603085. 4

Question Number : 348 Question Id : 226895671436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The process of changing the structure of a DataFrame using function pivot() is known as

1. Transpose
2. Reindexing
3. Resetting
4. Reshaping

Options :

2268952603086. 1
2268952603087. 2
2268952603088. 3
2268952603089. 4

Question Number : 348 Question Id : 226895671436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



BEM pivot() BT IGART BId Seltby &I TXd-] Dl 9aaH &I Ulseal &l

1. ZiodE
2. {gAsfEET
3, fafar
4. 39t

& U H SE I 8

Options :

2268952603086. 1
2268952603087. 2
2268952603088. 3
2268952603089. 4

Question Number : 349 Question Id : 226895671437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

After establishing the connection to fetch the data from the table of a database in SQL into a DataFrame, which of the
following function will be used?

(A) pandas.read_sgl_guery()

(B) pandas.read_sql_table()

(C) pandas.read_sgl_query_table()

(D) pandas.read_sql()

Choose the correct answer from the options given below:

1. {A), (B) and (D) only
2. (A), (B} and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952603090. 1
2268952603091. 2
2268952603092. 3
2268952603093. 4

Question Number : 349 Question Id : 226895671437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



T RIUd B & 915 sQL H Sead 31 difcrdT ¥ 321 &l 8¢ BH H aF & fou Fafafad § ¥ fog thaem &1 39
ikl

(A) pandas.read_sql_guery()
(B) pandas.read_sql_table()
(C) pandas.read_sqgl_query_table()

(D) pandas.read_sql()
14 feu e fased! 7 § |8t I -

Options :

2268952603090. 1
2268952603091. 2
2268952603092. 3
2268952603093. 4

Question Number : 350 Question Id : 226895671438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

in matplotlib also known as correlation plot, because they show how two variables are related.

1. Bar graph
2. Pie chart

3. Box plot

4. Scatter plot

Options :

2268952603094. 1
2268952603095. 2
2268952603096. 3
2268952603097 4

Question Number : 350 Question Id : 226895671438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

B S D! Yeddy Wiey & &9 1 1l 5TH1 9l 8, i d fedrd € fo &l 9% &4 Yaltid 8
1. @R ITE

2. Ui 91e

3. @i wle

4 T @le

Options :

2268952603094. 1
2268952603095. 2
2268952603096. 3
2268952603097. 4



Question Number : 351 Question Id : 226895671439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Given the following statement:
import matplotlib.pyplot as plt
‘plt' in the above statement is name,

1. key
2. alias
3. variable
4. function

Options :

2268952603098. 1
2268952603099. 2
2268952603100. 3
2268952603101. 4

Question Number : 351 Question Id : 226895671439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

frafefed s R g
import matplotlib.pyplot as plt
SWE T H plit ____ AHE]

1. key
2. alias
3. variable

4, function

Options :

2268952603098. 1
2268952603099. 2
2268952603100. 3
2268952603101. 4

Question Number : 352 Question Id : 226895671440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

How can you save a matplotlib plot as a file?

1. plt.export()
2. plt:save()
3. plt.savefig()
4. plt.store()

Options :

2268952603102. 1
2268952603103. 2
2268952603104. 3
2268952603105. 4



Question Number : 352 Question Id : 226895671440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

0 U Bied & ©Y § fewielad Wi & &4 4d o3 9ad a7
1. plt.export()
2. plt.save()

3. plt.savefig()
4. pltstore()

Options :

2268952603102. 1
2268952603103. 2
2268952603104. 3
2268952603105 4

Question Number : 353 Question Id : 226895671441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following in order in the context of exception handling:
{A) Program Termination
(B) Exception is raised
{C) Error accurs in a program
(D) Catching an exception

Choose the correct answer from the options given below:

Options :

2268952603106. 1
2268952603107. 2
2268952603108. 3
2268952603109. 4

Question Number : 353 Question Id : 226895671441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Huare gsfol & Hou | Fafeied o0 & afd o1
(A) BHHH FAT

(B) SUAIG Io14 Sl &
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Options :

2268952603106. 1
2268952603107. 2
2268952603108. 3
2268952603109. 4

Question Number : 354 Question Id : 226895671442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The plot function of pandas matplotlib uses 'kind’ argument which can accept a string indicating the type of graph to
be plotted. Which of the following are valid plots?

(A) Area

(B) Box

(C) Scatter

(D) Line

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)
4. (B), (C) and (D) only
Options :

2268952603110. 1
2268952603111. 2
2268952603112. 3
2268952603113. 4

Question Number : 354 Question Id : 226895671442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



UiS™ & Jcwileicd ®1 Gie ha¥H 'kind’ T DT SUTF B & Sl U %7 B WIDR PR Gabdll & @l W< [bY o aed
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Options :

2268952603110. 1
2268952603111. 2
2268952603112. 3
2268952603113. 4

Question Number : 355 Question Id : 226895671443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Given the following code for histogram:
df.plot(kind="hist', edgecolor="Green", linewidth=2, linestyle=-"', fill=False, hatch="0")
What is role of fill=False?

1. Each hist will be filled with green color.
2. Each hist will be empty.

3. Each hist will be filled with "',

4. The edge color of each hist will be black.

Options :

2268952603114. 1
2268952603115.2
2268952603116. 3
2268952603117. 4

Question Number : 355 Question Id : 226895671443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



fewmm & fo Fafafed ors fearmns -
df.plot(kind="hist, edgecolor="Green", linewidth=2, linestyle=-"", fill=False, hatch="0")
fill=False ®1 Y& &1 &7

1. U hist B T ¥R A9 |

2. U@ hist @It 2|

3. U@ hist ' T RT STE |

4. U@ hist B B &1 T & gl

Options :

2268952603114. 1
2268952603115. 2
2268952603116. 3
2268952603117. 4

Question Number : 356 Question Id : 226895671444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Matpletlib library can be installed using pip command. Identify the correct syntax from the following options.

1. pip install matplotlib.pyplotlib

2. pip install matplot.pyplotlib

3. pip install matplotlib.pyplotlib as plt
4. pip install matplotlib

Options :

2268952603118. 1
2268952603119. 2
2268952603120. 3
2268952603121. 4

Question Number : 356 Question Id : 226895671444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Hewielce el @ pip HHIS &1 3UGRT 6l Swid (4] ol Yebdl & | HEfiigd faded! § T Tgl [ice & ugdH &)

1. pip install matplotlib.pyplotlib

2. pip install matplot.pyplotlib

3. pip install matplotlib.pyplotlib as plt
4. pip install matplotlib

Options :

2268952603118. 1
2268952603119. 2
2268952603120. 3
2268952603121. 4

Question Number : 357 Question Id : 226895671445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Dynamic web pages can be created using various languages, like
{A) JavaScript

(B) PHP

{C) Python

(D) Ruby

Choaose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B} and (C) only
3. (A), (B), (C) and (D)
4. (B), (C) and (D) only
Options :
2268952603122. 1
2268952603123. 2
2268952603124. 3
2268952603125. 4

Question Number : 357 Question Id : 226895671445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

SEAH® 99 g fafis yrsfl & Sugf R s ST ddbd g, o
(A) STETTEPE

(B) PHP

(C) UG

(D) T4

T fRu T faeedl # 9 w8l W I

Options :

2268952603122. 1
2268952603123. 2
2268952603124. 3
2268952603125. 4

Question Number : 358 Question Id : 226895671446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-1l

List-1 List-1l

(A) STAR TOPOLOGY|(I) Each communicating device is connected to a central node.

(B) LAN (Il) Networking device
(C) HUB (11} Protocol
(D) ValP (IV) Type of network

Choose the correct answer from the options given below:

T.(A) - (), (8) - (I, (C) - (Im), (D) - (IV)
2. (A) - (0, (B) - (1), (C) - (), (D) - (V)
3.(A) - (), (B) - (V). (©) - (), (D) - (1)
4. (A) - (1), (B) - (V). (Q) - (1), (D) - (1)

Options :

2268952603126. 1
2268952603127.2
2268952603128. 3
2268952603129. 4

Question Number : 358 Question Id : 226895671446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

11 & FY -1 BT e B
-1 -1

(A) STAR TOPOLOGY (1) U@ aR SUaUl UF $5 1 18 4 Jel aidl 8|
(B) LAN (1) FeafdT IuHu

(C) HUB (1) Tieterd

(D) VolP (IV) Head P Yo

2 feu Tt fowedl 9 WE SR T

1. (A)-0) (B)-(1t), (C)-(11), (D)-(Iv)
2. (A)-(1), (BY-(11), (C)-(1n), (D)-(IV)
3. (A)-(). (BY-(1v), (C}-(1n), (D)-(11D)
4. (A)-(), (B}-(1V), (©)-(), (D)-(1)
Options :

2268952603126. 1
2268952603127.2

2268952603128. 3

2268952603129. 4

Question Number : 359 Question Id : 226895671447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the following in sequence of execution:

{A) HTTP Request

(B) Calls an application in response to the HTTP request
{C) Program executes and produces HTML output

(D) HTTP Response

Choose the correct answer from the options given below:

1. (B), (A), (O (D)
2. (Q), (A). (B), (D)
3. (A), (B), (O (D)
4.(C). (B), (A) (D)

Options :

2268952603130. 1
2268952603131. 2
2268952603132. 3
2268952603133. 4

Question Number : 359 Question Id : 226895671447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

e & ®H J Fgikiiad ©f 9ai¥yd &8
(A) HTTP 3FR1Y

(B) HTTP RX1Y & Ta1d H UH U= &I Bie didl o
(C) TR HTML 3T3eTE &1 Feaifad @ik 303 &ial 8
(D) HTTP UfafeaT

4 feu Ty fawed! & 9 Wl 9w g+

Options :

2268952603130. 1
2268952603131. 2
2268952603132. 3
2268952603133. 4

Question Number : 360 Question Id : 226895671448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-1l

List-1 List-11

(A) Static web page  |(I) A web page whose content keeps changing.

(B) Home page () Aweb page whose content is fixed.

(C) Dynamic web page|(lll) Delivers the contents to web browser.

(D) Web server (IV) First page of website

Choose the correct answer from the options given below:

T.(A) - (1), (B) - (V). (C) - (1) (D) - ()
2. (A) - (1), (B) - (1), (C) - (), (D) - (IV)
3. (A) - (V). (B) - (1), (C) - (1), (D) - (1)
4. (A) - (1), (B) - (V). (C) - (I, (D) - (1)
Options :

2268952603134. 1

2268952603135.2

2268952603136. 3

2268952603137. 4

Question Number : 360 Question Id : 226895671448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 & Y G-I BT R DL

-1 -1l

(A) Rfde 99 78 |(1) TS 99 U forge! geeht 9ga ' 8l
(B) B U (1) UF 99 U forga! Il fRR g1 81
(c) TTcrefier a9 g|(i) IR & 99 SISeR 9% Ugardl gl
(D) 98 TR (V) JETSE BT U5l I8

I e el f A W SR T

1. (A)-(1, (B)-(1V), (Q)-(). (D)-(111)
2. (A)-(1), (B)-(11, (©)-(1), (D)-(IV)
3. (A)-(V), (B)-(1), (Q)-(1). (D)-(11D)
4 (A)-(

A)-(), (B)-(1v), (Q-(1), (D)-(11)

Options :

2268952603134. 1
2268952603135.2
2268952603136. 3
2268952603137. 4

Question Number : 361 Question Id : 226895671449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following is a networking device?

(A) Gateway

(B) Repeater

(C) MAN

(D) Modem

Choose the correct answer from the options given below:

1. {A) and (D) only

2. (A), (B) and (D) only
3. (A), (B), (C) and (D)
4. (B), (C) and (D) only

Options :

2268952603138. 1
2268952603139. 2
2268952603140. 3
2268952603141. 4

Question Number : 361 Question Id : 226895671449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fafdied # § $1H-91 TP AeaidT IUPR 87

(A) Ted

() Rdiex

(C) MAN

(D) ATSH

qﬁﬁqwﬁwﬁ‘fﬁ@mﬁwzﬁ:
&ad (4) R (D)

2W(A) ) 3R (

D)
3. (). (B), (C ;aﬁm}
&ad (B), () 3R (D)

Options :

2268952603138. 1
2268952603139. 2
2268952603140. 3
2268952603141. 4

Question Number : 362 Question Id : 226895671450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



is the largest WAN that connects billions of computers, smartphones and millions of LANs from different
countries.

1. PAN

2. WWW
3. Ethernet
4. Internet

Options :

2268952603142. 1
2268952603143. 2
2268952603144. 3
2268952603145. 4

Question Number : 362 Question Id : 226895671450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

T T WAN ¢ o At o=l & oRal dwex, §IchiF R Al LAN &1 Siisdl g1

1. PAN
2 Www
3. 3R
4,332

Options :

2268952603142. 1
2268952603143.2
2268952603144. 3
2268952603145. 4

Question Number : 363 Question Id : 226895671451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The intellectual property right that is granted for inventions is

1. Copyright
2. Patent

3. Trademark
4. Licensing

Options :

2268952603146. 1
2268952603147. 2
2268952603148. 3
2268952603149. 4

Question Number : 363 Question Id : 226895671451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



HfgeRl & o Gorm afge g efer__ gl

1. BIGISE
2.Ue
3. oA

4. TEYY

Options :

2268952603146. 1
2268952603147.2
2268952603148. 3
2268952603149. 4

Question Number : 364 Question Id : 226895671452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Violation of intellectual property right may happen due to :
{A) Copyright Infringement
(B) Patent
(C) Trademark Infringement
(D) Plagiarism
Choaose the correct answer from the options given below:

and (C) only
. (A), (B) and (C) only
(B), (C) and (D)
(

Options :

2268952603150. 1
2268952603151. 2
2268952603152. 3
2268952603153. 4

Question Number : 364 Question Id : 226895671452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



dife® 4Ugl DR & Jcagd 59 BRI 5l Uhdl 6:
(A) BIURTEE BT Jeag

(B) U

(C) TSI e

(D) QIR

rd fau e fawed! § 9 wdt 3w -

1. %ad (A) 3R (Q)

2. Had (A), (B) AR (O)
3. (A), (B), (Q) 3R (D)
4.Had (A), (C) 3R (D)

Options :

2268952603150. 1
2268952603151. 2
2268952603152. 3
2268952603153. 4

Question Number : 365 Question Id : 226895671453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-II

(A) Cyber Appellate Tribunal (1) Punishes people causing pollution.

(B) Environmental Protection Act 1986  |(Il) Provides guidelines for proper handling and disposal of e-waste.

(C) Indian Information Technolegy Act

1II) Resolves disputes arising from cyber crime.
2000 (1 P g Yy

{IV) Provides guidelines on storage, processing and transmission of sensitive

(D) Central Pollution Control Board
data.

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1) (©) - (V). (D) - (1)

2. (A) - (1), (B) - (1), (€} - (), (D) - (V)
)= (. (B) - (1), (C) - (W), (D) - (1)
)- (Il

(1. (8) - (v}, (@ - (0. (D) - (1)

3.(A) - (),
4. (A

Options :

2268952603154. 1
2268952603155.2
2268952603156. 3
2268952603157. 4

Question Number : 365 Question Id : 226895671453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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-1 -1

(A) TIEER ST ARSI (1) TGHYT e ard Al @ afed D gl

(B) UgTaur Teur AT 1996 (1) 5-37ufRY & I Hare SR Fuer & o fgzn-Fee vegH sear sl

(€) HRTTG g1 U] <f&as 2000|(1) SEER HORTY § 304 fGaTal &1 GH1EH Sl g

(D) ST UGN A dle (IV) GaGTRiTd 521 & HSRY, TEl 3R 90 IR feanHes UgH axdi 6l
I e Tt famed! & 9 w8t IR 94

- (A)-(I), (B)-(1), (C)-(1V), (D)-(1N)
0. (B)-{1), (C)-(1n, (D)-(IV)
. (B)-(I. (©)-(1V). (D)-(11)

|

1, (8)-(v), (-1, (B)-(1)

1. (A)-(
2. (A)-{
3. (A)-(
4 (A)-(
Options :

2268952603154. 1
2268952603155.2

2268952603156. 3
2268952603157. 4

Question Number : 366 Question Id : 226895671454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
is a branch of science that deals with designing and arranging of workplaces.

1. Netiquette
2. Ergonomics
3. Leeching

4. Refurbishing

Options :

2268952603158. 1
2268952603159.2
2268952603160. 3
2268952603161. 4

Question Number : 366 Question Id : 226895671454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

_____ a9H &1 U 9 & off ST &1 feuE 3k soaw § 9afia g

1. dfewe
2. WiHIEE
3. Tl
4. rmiERm

Options :

2268952603158. 1
2268952603159. 2
2268952603160. 3
2268952603161. 4

Question Number : 367 Question Id : 226895671455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Sequence the steps to append data to an existing file and then read the entire file:
{A) Open the file in a+ mode.

(B) Use the read() method to output the contents.

(C) Use the write() or writelines() method to append data.

(D) Seek to the beginning of the file.

Choose the correct answer from the options given below:

1. (A). (C), (D),
2. (A), (B), (©),
3. (B), (A), (D

4.(Q.(B). (D

(B)
D))
). (C)
). (A)
Options :
2268952603162. 1
2268952603163. 2
2268952603164. 3
2268952603165. 4

Question Number : 367 Question Id : 226895671455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Tl HieT Bigd | 321 wie- @ U ool &1 %4 a1 3R [ I Bigd & Ue:
(A) BT @l a+ A8 T Gl

(B) Tl @I 3HT3eYE HRA & (oY read() [ &1 ST T

(C) S2T SIS+ & [T write() TT writelines() afyr @1 Iuam &4

(D) TSC @1 [T P el B |
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Options :

2268952603162. 1
2268952603163. 2
2268952603164. 3
2268952603165. 4

Question Number : 368 Question Id : 226895671456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Sequence the given process for checking whether a string is a palindrome or not, using a deque:
{A) Load the string into the deque.

(B) Continuously remove characters from both ends.

{C) Compare the characters.

(D) Determine if the string is a palindrome based on the comparisons.

Choose the correct answer from the options given below:

(B
(B
(B), (A
(€ (B

"

(D). ()
(@, O
(D), (C

(D). (A)

(A),
(A),

I

e Tt G e
L

: b
2.
3.
4. ;
Options :

2268952603166. 1
2268952603167. 2

2268952603168. 3
2268952603169. 4

Question Number : 368 Question Id : 226895671456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Cable based broadband internet services are example of
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is the trail of data we leave behind when we visit any website (or use any online application or portal) to

fill-in data or perform any transaction.

1. Digital footprint
2. Cyber crimes

3. Cyber bullying
4. |dentity theft
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